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BRBRERR (FRH)

— VEE

%l‘ﬁ

RiFEY EAmRER TESRAER U -—CHEER
EER 88,683 68,576 20,107 77.32%
5 B 8,189,589 8,186,265 3,324 99.95%
fEE AR 1,611,046 1,608,968 2,078 99.87%
mRERIEH 626,199 588,707 37,492 94.01%
R AT BD 203,772 198,771 5,001 97.54%
e ED 90,740 90,151 589 99.35%
= 1,273 1,273 0 100.00%
BB 203 192 11 94.58%
RERECTEBR 151 145 6 96.02%
EZEEELZEEBR 63,252 63,017 235 99.62%
EAEEEBR 49 49 0 100.00%
BEEESEBR 18,802,599 18,749,299 53,300 99.71%
B ARE R ERE 188,508 181,255 7,253 96.15%
BBREBR 145,010 145,010 0 100.00%
FTFKER 654,833 654,612 221 99.96%
TR R R4 3,502 3,502 0 100.00%
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RERREERR (SH3EEER)

RERLELER
1|2 —M (A4RH) 28,055,350 #] 27,993,350 #& 62,000 1% 99.77 % |M&EE - MEELDOREY
2 | 74— LEHK 20,000 1% 20,000 & 0 100.00 %

3 Moy bhT—7Yr2—BEIR 600 #% 0 600 & 0.00 % |HeaE - 1ERE LD EIE
| 4 | BTSN TOAVEIRIBE (A 4#%H) 1,763,626 | 1,721,126 #& 42,500 1% 97.59 % |H{EZNYRNTAE
B |5 [B2TanT02ERIME (A45E) 103,300 & 88,950 1% 14,350 % 86.10 % |MEHE - MERE LD MFEIE

6 |FALy bR—st— 64,899 # 64,899 #* 0 % 100.00 %

1|74 yyar—si— 3,599 1 3,599 1@ 0 100.00 %

#5E  /\at] 30,011,374 29,891,924 119,450 99.60 %

8 [vv—Tr 479 K 479 A& 0 & 100.00 %

9 [v v =Ty 151 1@ 151 1@ 0 100.00 %

10 [R— 14,441 7 14,330 & 111 & 99.23 % |¥hE - MERE LD BEME

1|v—Fr o~y 20,163 & 20,133 & 30 & 99.85 % |#HE - MEE L DWMEM

12 [$h%E 2,708 & 2,678 A& 30 A& 98.89 % |HkE - MAEL DR EE

13|28 74 121 1@ 121 f@ 0 100.00 %

14 [%kEY 42 @ 42 1@ 0 100.00 %

15 [ElE+ v b 4 @ 3 M@ 1 75.00 % |MEEE - MERE LD MFEE

16 |EN%E 0 @ 0 f@ 0 —

17 [2RED 0 1@ 0 & 0 —

18 | = LEN 631 & 606 & 25 1A 96.03 % |tFIDObDEADE HLEN

19 |[E%5 I L FD 25 B 25 @ 0 100.00 %

20 |E# 1,531 1@ 25 f& 1,506 @& 1.63 % |f#&#E - HEELOLEMN

21| bL— 39 & 29 & 10 74.35 % |H&HE - MERE L DOREM

22 FELT L 600 1 595 & 5 1@ 99.16 % |HkE - MRE L DR B

23|27 =77— CAMRE) 135 1@ 135 1@ 0 100.00 %

24|27 =77 — CRAZLUY 17 f& 17 f& 0 100.00 %

25| AT =77 =8t L—N— 10 1@ 10 f& 0 100.00 %

26 [EHR T Uy T (RK) 0 f& 0 f@ 0 —

27 |FBREBER (7—7) 571 g 571 f& 0 100.00 %

3 | 28|FBREEE (BHR) 29 1@ 29 1@ 0 100.00 %
829|057 57 1,017 @ 1,017 1@ 0 100.00 %
B30 |wer—7 owm 1603 | 1788 @ 15 @ ee16 %[ weross

31 |REMERT —7 4,088 & 4,088 & 0 100.00 %

32 |®WAEF—F 158 1@ 158 1@ 0 f@ 100.00 %

33| Ty REVE 90 & 61 f& 29 67.77 % |¥#E - MERE LD REM

34|Rv2EVR 3 @ 0 f& 3 M@ 0.00 % |#8E - 1EAE LD

B2y TS r—= 34 & 24 & 10 7058 % |#HE - MERE LD REM

36|l A 91 & 75 @8 16 f& 8241 % |HHBICERN R AFTERL ST

37(%7 %y b (F) 353 230 1@ 123 65.15 % |z ofth (EEMICFEMEZTA)

38| T xy b (1N—) 68 { 0 1@ 68 f& 0.00 % |#8E - 1EAE LD

9| F—THhya— 29 & 29 f@ 0 100.00 %

40 |73 F (F8)) 5 & 3 @ 2 @ 60.00 % |HHBICERNLAFTERL ST

A1L[EIL R T—Z (DL WARRY 75 —2) 0 & 0 1A 0 —

42 (DY 7Y — L 7 & 7 18 0 @ 100.00 %

43 |3hEH (F8) 0 f& 0 f@ 0 —

44 |0AZ ) —F— (T v b EAT) 7 1@ 7 @ 0 f& 100.00 %

45(0A27 ) —F— (R& A7) 4 18 4 @ 0 100.00 %

46 [ X2 7 A7— 3 @ 3 @ 0 f& 100.00 %

47 {Lg—r—= 165 & 165 1@ 0 100.00 %

W\ AT 4T =2 0 & 0 f& 0 {8 —

49 (w7 RsSy K 10 1@ 0 f& 10 0.00 % |BEMEDHER

50([0A74L&— (BHY) 0 & 0 @ 0 {8 —




RERREERR (SH3EEER)

RERLELER
51 [0 RS 0 & 0 & 0 & —
52| hy &—=F47 2 @ 0 f& 2 f@ 0.00 % |Hete - HEELORENE
53|AyFavswy b 10 & 10 M@ 0 100.00 %
54|72 =<vy b 11 1@ 5 f& 6 f& 45.45 % |BFADEM
55 [OHP 7 4 JL Ly 11 f& 1 @ 0 100.00 %
56 [#2%E 0 M@ 0 f& 0 @ —
57 [#n B 54 {8 54 8 0 100.00 %
58 |&3+ 0 & 0 f& 0 —
59 (oY (&R 302 @ 301 f@ 1 99.66 % |HkE - MRE L DR EIE
60|y CRHDY) 70 1B 70 @ 0 100.00 %
61 |oY (E) 2,974 & 2,974 @ 0 100.00 %
62|y (7—7) 4,316 18 4,301 @ 15 99.65 % |E{EZNYRNTAE
63|77 AL 48,766 i 48,629 137 M 99.71 % |#kE - MERE LD BEME
64 |NA v & — 335 i 335 fi 0 100.00 %
65|77 4 U > AR 22,183 & 22,173 f@ 10 99.95 % |z oft (FERICFERZLZA)
66 | 7 IL/N L 150 1@ 0 f@ 150 0.00 % |#8E - HEAE LD EME
67 (2o 0H 6,915 18 6,715 1@ 200 97.10 % |HkE - MREL DR EIE
68|Hh— Ko —= 321 & 241 {8 80 75.07 % |MEEE - MERE LD MFEE
69 |BHAHE (L) 160,560 #&| 157,560 #& 3,000 1% 98.13 % |&BA DM
v | 70| B EHE (TR 132,700 #&| 132,700 i 0 100.00 %
B | 71| 0E 0 @ 0 f@ 0 —
72 ezme 0 @ 0 @ 0 -
3/ -+ 1,950 fiB 1,933 17 99.12 % |HkE - MRE LD R EE
T4 |/ FF L 122 f& 10 f& 112 8.19 % |i&RE - MRE LD HEM
I ES T2 10,843 1A 10,802 1@ 41 @ 99.62 % |HAHZHYROTE
16|41 Tv IR 822 1@ 793 @ 29 96.47 % |HHE - MERELDREM
77 |FEEHR 13,346 {H 13,086 & 260 f& 98.05 % |H{fZZHYmDTE
ICIGE ZERITN 58 1@ 58 &l 0 100.00 %
79 BRI E 401 1@ 401 1@ 0 f& 100.00 %
80K 74 FR—FBAL—Y— 336 & 333 @ 3 99.10 % |BmFEDHER
81 | &k 127 & 127 & 0 f& 100.00 %
82 |Z &8 30 & 30 f@ 0 100.00 %
83|UHA LRy s 0 M@ 0 f& 0 f@ —
84| - R F LD LI (F8) 0 f& 0 f& 0 -
85| &l (ML) 20 & 20 18 0 M 100.00 %
86 | &AL (WARE(IE - HTFIFE) 430 g 430 1@ 0 100.00 %
87 |®N T (7vo%EEL, ) 0 & 0 1@ 0 M -
88|Fa—v 6,569 # 6,569 A 0 & 100.00 %
89|77V FAARK 21,650 kg 21,450 kg 200 kg 99.07 % |z oft (HEEMICEREZAN)
90 [IRam/Nv F 602 1@ 302 @ 300 50.16 % |#EE - MERE LOWMEN
XESE i 486,618 480,061 6,557 98.65 %
91 (L 64 61 3 M 9531 % |HIBICERDBAFTERA T
92 |# 53 & 23 A 30 & 4339 % |BA oM
93 |1 20 & 20 = 0 & 100.00 %
> 94 | UM H3E (IS 1 & 9 & 2 A 81.81 % |MEAE - MEREL DT
j 95 |A—nN=Fay 2 A 2 & 0 & 100.00 %
2|96 |a— k- 0 A 0 & 0 & —
| o7]|guc 1A 1 & 0 & 100.00 %
i 98 |#BRIR 4 @ 4 & 0 f& 100.00 %
99 | B4R 0 @ 0 f@ 0 —
#E|RT7 A FR—F 13 1@ 11 @ 2 @ 84.61 % [BEMDHER
*7 4 ZREE hE 168 131 37 7797 %




RERREERR (SH3EEER)

KRR G ELRER
101|2 & —#% 0 & 0 & 0 & —
102| &1 34 & 34 & 0 & 100.00 %
103|3LERIED H BT Y 2L — 1 0 & 0 & 0 & .
104| 7Y > & 1B 1 4 0 A 100.00 %
[E]
& |105| 7V v siEhE 0 & 0 & 0 A& —
#1067 722y 1 A& 1 & 0 & 100.00 %
E o7|zx v s 0 & 0 & 0 —
&
108| 7AYo 4 0 & 0 & 0 & -
109 hF—h—FUvwP 381 1@ 321 f@ 60 84.25 % |z ofth (EEMICEEMAETA)
110(4 > o h—F Uy 225 & 200 & 25 88.88 % |MLAE - MRS L DT
EREIRE G 642 557 85 86.76 %
B |11l B FErERE 5 & 5 & 0 A 100.00 %
T ojums« 2o E o0& 0 & 0 & -
i 13|74 2 7L A 9 A 9 A 0 & 100.00 %
=
= |14|EZHAAT AT 2,939 & 2,929 & 10 99.65 % |Zofts (EEMICFHEZTA)
# BFE®E NGt 2,953 2,943 Iy R @
4 11532y x— 4 B 4 B 0 100.00 %
7 |116| 7 ¥ R IVENRIHE U= 0 & 0 & —
4
117|#ErEt 4 @ 2 @ 2 @ 50.00 % |FEEMEDOHER
s
e [118 BrAs LA ER 44 {8 33 @ 11 75.00 % |ERO#EM
| | 119 —REBHBXILNEFTEATM 7,347 1@ 7,257 1@ 9 f& 98.77 % |HBICERI’ R AFTERD > 72
= *7 4 ZHERE G 7,399 7,296 103 98.60 %
B | ## (e EE 0 & 0 & 0 & —
5 ##|PHS 0 A 0 A 0 A -
B
o | # A= b7 0 A 0 A 0 A —
F BBEZES it 0 0 0 —
# | BRUSEE 1 A& 1 & 0 & 100.00 %
## | BRSHRE 0 & 0 A 0 & —
R | s |mmnmans 2 & 2 & o &l 10000 %
B
" #|TLEY 2V EEE (FLE) 0 & 0 & 0 & -
& |27\ EREE 0 & 0 & 0 & -
128|BFL > 0 A 0 A 0 A -
RESG /it 3 3 0 100.00 %
B R P R 4 B 3 A 1 & 75.00 %
7
F o|130[H R E— bRy T SEEE 0o & 0 & 0 & -
5
I FEI 0 A 0 & 0 & —
>
%
1 I7aAYTF4var—%5 it 4 3 1 75.00 %
132/t — bRy TRBRHBSS 0 A 0 & 0 A& —
B (133|552 1A 15 o & 10000 %
7K
= 134| FHDR SR 0 & 0 & 0 & -
= |135| 4 2 Wi 0 A 0 A 0 & -

JRIKERE A 1 1 0 100.00 %
136|LEDfERAZRE 4 & 2 B 2 A 50.00 % |BEIE DR
137|LED % JIR & L 7= BB ERRAT 122 & 60 & 62 & 49.18 % |BEEMEDHER

iz
- 138|ENT VT (KESDODRDAOFEEENLT > 7) 1,356 A& 1,356 & 0 & 100.00 %
139| BEFRD Z >~ 7 12 @ 6 & 6 50.00 % |HiBICERI’ R AFTERN >T2
BB /it 1,494 1,424 70 9531 %




RERREERR (SH3EEER)

RERAEREH
140| A= 2 A 2 A 0 & 100.00 %
141 /WBIR R 0 A 0 A 0 A —
142| NV Y 1 A 1 & 0 & 100.00
B [143) 22 0 A 0 A 0 A —
z 144\ F 5y o % 0 A 0 & 0 = -
= 145 kT 0% 0 A 0 & 0 & -
146| RAEAZ A v 84 A 16 & 68 A 19.04 % |z ot (EEMICEMETA)
U7 2 A7 LT Ik 0 0 0 % —
BEES G 87 19 68 2183 %
L VLI PIPES 38 & 38 & 0 & 10000 %
;\g AR NE 38 38 0 100.00 %
| 1a9|#15R 825 % 812 # 13 & 98.42 % |HEAIOLDEADY B BEM
. 150| fFEAR 431 423 & 8 & 98.14 % |#kE - MRE LD BEME
& |151|1§F 114 55 100 = 14 & 87.71 % |##E - MEE LDOWMEM
i 152/ 271 B 5 2 12 2 55.55 % |H¥AE - 1ERE LD EIE
£ AR - 1ERERE  FE 1,397 1,350 47 96.63 %
153 h—F > 0 # 0 # 0 # —
154| /774~ F 0 0 & 0 —
A |15 BT T4~ F 4 = 0 = 4 = 0.00 %|HBICERLBELAFTELRDL -7
7 156|277y kH—rcu b 0 ni 0 m 0 ni -
: 157| &AL h—~_y b 18 nf 0 nf 18 ni 000 %|FBICERABAFTERL T
7 |158|#Lw S 7A 0 ni 0 ni 0 ni —
159| = — KLy FH—~_y b 0 m 0 m 0 m —
jjz 160| £ 1,940 % 970 1% 970 50.00 % |##E - MRE L DREM
= 1615 A 0 % 0 0 # —
8 l162| Ry F7L—4 0 A 0 A 0 A —
63|y F LR 0 M@ 0 M@ 0 f@ —
A>TV T7 - BEEE G 1,962 970 992 49.43 %
F | 164|1FEFE 944 18 704 #8 240 #8 7457 %
# = TEEEFE IF 944 704 240 7457 %
165| =BT >~ b 0 = 0 & 0 = —
7z |166| 77— —h 8 = 0 = 8 = 0.00 % |EAOREM
D 167(B5ERF v b 0 = 0 = 0 = —
& 163 1A 0 & 1| oo0 w|me - werosme
:Jz 169|DIF Y 50 & 50 & 0 = 100.00 %
2 |170|1% (TR, BER) 2 = 2 R 0 =& 100.00 %
@ |17|ey 7 0 & 0 & 0 = -
Z O RE  Et 61 52 9 85.24 %
12| KIBHRFEES 27 L (D - EERA) 0 kw 0 kw 0 kw -
13| KBEFIB Y 27 L (R - FEEER) 0 nf 0 ni 0 ni —
0 kw, 0 kw — —
175| TRV X —BEBY X T L 0 % 0 # 0 f# —
s 176|432 IBH 0 A 0 A — -
1% [177|emokiess 0 1 0 f 0 -
178| BEIFAEE 7 1 L L 0 0 ni 0 nf —
19|77 =274 2R 0 0 # 0 # -
180|Web&i#> 2 7 Ln 0 0 f# 0 -
iR A 0 0 0 —




RERREERR (SH3EEER)

RERLELER
181| K E & AR 197 & 149 & 48 # 75.63 % |BEIEDOHR
182| 7L 7 7Lk 623 & 523 & 100 & 83.94 % |BEMEDHEIR
183|fR7F/ ¥ 540 1@ 540 f@ 0 100.00 %

s | 1848z 24 8 24 @ 0 @ 100.00 %

= liss|L ko b BGE 312 @ 312 0 10000 %
E 186| REHERR 0 M@ 0 f@ 0 f@ —
; 187|7 U —X R4 B 0 & 0 f@ 0 -
| 188| 3k AL 0 18 0 M@ 0 -
189|#EH FETEH 0 1@ 0 f& 0 -
190|FEE A HEIR 0 & 0 @ 0 —

KERBER /& 1,696 1,548 148 9127 %
191|8 T 3L ¥ — 2l 0 % 0 # — —
192(EDRI CKENRIIEEE A SR <) - — - -
193|BE 0 # 0 # 0 fF -
194| BB EEH LA VEE 0 0 — —
195| B BHEEE A 0 # 0 0 fF —
196 FAERE 0 0 # 0 fF —
197|E#EE 0 # 0 0 fF -
198| AN ER 0 0 # 0 -
199[:54® 0 0 0 fF —
200( R AIH—Ry b 0 0 # 0 —
% | 201 | H2E ST E LI 0 # 0 # 0 # —
B 202\ m =50 0 0 # 0 # -
203|#ifcix 0 0 # 0 fF -
204| R Ex 0 0 # 0 —
205| HAATHAEIR B2 H 0 0 0 -
206| FEZICH VW TEELIT S INTES 0 0 0 # —
2072 —=v 7 7% 0 # 100.00
208| 81k B BN ARTEHER B 0 A 0 & 0 A& —
209| 5 |#EnE 0 0 # 0 fF -
210| 2EEEE 0 0 # 0 -
211 | ENRIMRE SR ML 0 # 0 0 —

&% NEt 7 7 0 100.00 %

x o|212| 77 RF v o BB 152,561 #%| 150,761 4% 1,800 # 98.82 % |z oft (BERICFFHHRZLZA)
il THKE NEH 152,561 150,761 1,800 9882 %
eRBE& 30,669,409 30,539,792 129,617 9957 %




